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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 

 

1. ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ (GDP), ˜ÛÛé””Ûà …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ (NDP), ïäõÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ (GNP) …¶Ûé 
˜ÛÛé””Ûà ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ (NNP)¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

…¬ÛÈÛÛ 

 (…) œ÷.¦øà.¸Ûà.¶ÛÛ ÍÛ×ïõÛé̃ Ûïõ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 

 (¼Û) ÍÛÛµÛ¶Û ”Û˜Ûë ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 

 

2. ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà Š©¸ÛÛþù¶Û, …ÛÈÛïõ …¶Ûé ”Û˜ÛÙ¶Ûà ¸Û±ùÜ©Û…Ûé ÜÈÛÍ©Ûè©Û Áõà©Ûé ˜Û˜ÛÛë. 14 

…¬ÛÈÛÛ 

 (…) ½ÛÛÁõ©Û¾ÛÛ× ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ …¶Ûé ¾ÛÛ¬ÛÛþùà¥ø …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ¶ÛÛ ÈÛÅÛ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 

 (¼Û) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà ›ä÷þùà-›ä÷þùà ÈýÛÛ”ýÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé. 

 

3. ½ÛÛÁõ©Û¾ÛÛ× ÿ˜ÛÛ ›÷¶¾ÛþùÁõ …¶Ûé ¶Ûà˜ÛÛ ¾Ûè©ýÛäþùÁõ¶ÛÛ ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

…¬ÛÈÛÛ 

 ¶Ûà˜Ûé¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 

 (1) ›ÛÜ©Û ¼Û×µÛÛÁõ¨Û 

 (2) ÍÛÛ“ÛÁõ©ÛÛ¶ÛÛé þùÁõ 

 (3) ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ 

 (4) ¸Ûó›÷¶Û¶Û þùÁõ 

  

4. ÈÛÍ©Ûà ÍÛ×’õ¾Û¨Û¶ÛÛé ÜÍÛ±ùÛ×©Û …ÛïèõÜ©Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 14 

…¬ÛÈÛÛ 

 ½ÛÛÁõ©Û ÍÛÁõïõÛÁõ¶Ûà ÈÛ©ÛÙ¾ÛÛ¶Û ÈÛÍ©Ûà¶ÛàÜ©Û ˜Û˜ÛÛë. 
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5. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé. 7 
  (1) ïäõÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ïõÁõ©ÛÛ× ˜ÛÛé””Ûà …ÛÈÛïõ ïõýÛÛ ïõÛÁõ¨ÛÍÛÁõ …Ûé™öà ÐüÛéýÛ ™öé ? 
   (a) –ÛÍÛÛÁõÛ ”Û˜ÛÙ  (b) ›ÛÐéüÁõ ”Û˜ÛÙ 
   (c) ÍÛÛµÛ¶Û ”Û˜ÛÙ  (d) ÈÛ¸ÛÁõÛÉÛà ”Û˜ÛÙ 
  (2) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà ïéõ¤øÅÛà Áõà©ÛÛé ™öé ? 
   (a) ¼Ûé  (b) ªÛ¨Û 
   (c) ˜ÛÛÁõ  (d) ¸ÛÛ×̃ Û 
  (3) ÈÛÍ©Ûà ÍÛ×’õ¾Û¨Û¶ÛÛ ïõýÛÛ ©Û¼Û‘õÛ¾ÛÛ× ÈÛÍ©Ûà ÜÈÛÍºõÛé¤ø ¬ÛÛýÛ ™öé ? 
   (a) ¸Ûó¬Û¾Û  (b) ¼Ûà›Û 
   (c) ˜ÛÛé¬ÛÛ  (d) ªÛà›Û 
  (4) ïäõÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà¾ÛÛ× ÍÛÁõïõÛÁõ¶ÛÛ ïõýÛÛ ”Û˜ÛÙ Š¾ÛéÁõÛ©ÛÛ ¶Û¬Ûà ? 
   (a) ÍÛ×Áõ“Û¨Û ”Û˜ÛÙ  (b) ¼ÛþùÅÛÛïõ¾ÛÛ¨Ûà 
   (c) ÈÛ¸ÛÁõÛÉÛà ”Û˜ÛÙ  (d) ÁõÛéïõÛ¨Û ”Û˜ÛÙ 
  (5) ÁõÛÌ¤ÖøàýÛ ›÷¶Û½Û×¦øÛéÇ¶Ûà Í¬ÛÛ¸Û¶ÛÛ ïõýÛÛ ÈÛÌÛÙ¾ÛÛ× ¬Ûˆ Ðü©Ûà ? 
   (a) 2005  (b) 2001 
   (c) 13 ›Û¶ýÛä…ÛÁõà, 2003 (d) 1991 
  (6) 2011¾ÛÛ× ½ÛÛÁõ©Û¾ÛÛ× þùÁõ Ðü›ÛÁõ ¸ÛäÄõÌÛÛé…é ÍªÛà…Ûé¶Ûä× ¸Ûó¾ÛÛ¨Û ïéõ¤øÅÛä× Ðü©Ûä× ? 
   (a) 940  (b) 946 
   (c) 934  (d) 900 
  (7) 2011¾ÛÛ× ïõýÛÛ ÁõÛšýÛ¾ÛÛ× ÍÛÛ“ÛÁõ©ÛÛ¶ÛÛé þùÁõ ÿ˜ÛÛé Ðü©ÛÛé ? 
   (a) •Ûä›÷ÁõÛ©Û  (b) ÜþùÅÐüà 
   (c) ÁõÛ›÷Í¬ÛÛ¶Û  (d) ïéõÁÇ 

 (B) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ× (T) ™öé ïéõ ”ÛÛé¤øÛ (××××) ©Ûé ›÷¨ÛÛÈÛÛé. 7 
  (1) NNP ïõÁõ©ÛÛ× GNP …Ûé™öà ÐüÛéýÛ ™öé. 
  (2) 2011¾ÛÛ× ½ÛÛÁõ©Û¶Ûà ÈÛÍ©Ûà 1.21 …¼Û›÷ ¬Ûˆ Ðü©Ûà. 
  (3) ½ÛÛÁõ©Û¾ÛÛ× ÈÛÍ©Ûà •Û¨Û©ÛÁõà þùÁõ 10 ÈÛÌÛÙ¶ÛÛ …×©ÛÁõé ¬ÛÛýÛ ™öé. 
  (4) NNP = NNP – ¾Ûæ¦øà –ÛÍÛÛÁõÛé. 
  (5) ïäõÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà ÈÛ”Û©Ûé ÈÛ˜Û•ÛÛÇÛ¶ÛÛ ¾ÛÛÅÛ¶ÛÛ ÍÛÛéþùÛ…Ûé¶Ûà •Û¨Û©ÛÁõà ïõÁõÈÛà 

›Ûé̂ …é. 
  (6) ½ÛÛÁõ©Û ÍÛÁõïõÛÁéõ 15 ºéõ¼Ûóä…ÛÁõà, 2002¶ÛÛ ÁõÛé›÷ ¶ÛÈÛà ÈÛÍ©Ûà¶ÛàÜ©Û¶Ûà ›ÛÐéüÁõÛ©Û ïõÁõà Ðü©Ûà. 
  (7) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà …ÛïõÛÁõ¨Ûà¾ÛÛ× ¼ÛéÈÛ¦øà •Û¨Û©ÛÁõà ¤øÛÇÈÛÛ ¾ÛÛ¤éø¶Ûà ¼Ûé ¸Û±ùÜ©Û…Ûé Š¸ÛÅÛ¼µÛ 

™öé. 
___________ 

 

  



JA-115  3 P.T.O. 

Seat No. :  _______________ 
  

JA-115 
January-2016 

B.A., Sem.-I 

Elective-(EC-II) -105 : Economics 

 (Indian Economy) 

 
Time :  3 Hours]  [Max. Marks : 70 

 

Instruction : All questions carry equal marks. 

 

1. Explain the concepts of Gross Domestic Product, Net Domestic Product, Gross 

National Product and Net National Product. 14 

OR 

 (a) Explain the concept of deflator of Gross Domestic Product. 

 (b) Explain the concept of National Income at factor cost. 

 

2. Discuss in detail the methods of production, income and expenditure for measuring 

National Income.   14 

OR 

 (a) Explain the trends of Gross Domestic Product and Per-Capita Domestic Product 

in India. 

 (b) Explain the different definitions of National income. 

 

3. State the causes of High Birth rate and Low Death rate in India. 14 

     OR 

 Explain the following concepts : 

 (a) Gender Ratio 

 (b) Rate of Literacy 

 (c) Population Density 

 (d) Fertility Rate 

 

4. Explain the theory of demographic transition with figure. 14 

     OR 

 Discuss the present population policy of Government of India. 
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5. (A) Answer the following question by selecting the most appropriate alternative. 7 

  (1) For what reason Net National income is lower that Gross National income ? 

   (a) Depreciation cost (b) Public expenditure 

   (c) Equipment expenses (d) Consumption expenditure 

   

  (2) How many methods are there to measure National income ? 

   (a) Two (b) Three 

   (c) Four (d) Five 

   

  (3) In which stage of Demographic transition does population explosion occur ? 

   (a) First (b) Second 

   (c) Fourth (d) Third 

   

  (4) Which Government expenses are not added in calculation of Gross National 

Product ? 

   (a) Defence expenses (b) Transfer payment 

   (c) Consumption expenses (d) Investment expenses 

   

  (5) In which year was National Population Fund established ? 

   (a) 2005 (b) 2001 

   (c) 13
th
 January, 2003  (d) 1991 

   

  (6) What was the proportion of female for every 1000 male in India in 2011 ? 

   (a) 940 (b) 946 

   (c) 934 (d) 900 

   

  (7) Literacy rate was higher in which State of India in 2011 ? 

   (a) Gujarat (b) Delhi 

   (c) Rajasthan (d) Kerala 

   

 (B) State whether the statement is true (�) or false (××××). 7 

  (1) NNP is lower than GNP. 

  (2) Population of India was 121 crores in 2011. 

  (3) Population survey is conducted after every 10 years in India. 

  (4) NNP = Net National Product – Capital Depreciation. 

  (5) Transaction of Goods under process should be considered in calculation of 

Gross National. 

  (6) New population policy was declared on 15
th
 February, 2002 by Government 

of India. 

  (7) There are two methods available to avoid double calculation in the 

assessment of National income. 

________ 


